Qv |uom| DESCRIPTION |
11 BX |Bolt, Stove Flat Hd, 3/16 x 3", 100/bx
1 BX |Boit, Stove Rd Hd, 3/16 x 1", 100/bx
1 BX |Botlt, Stove Rd Hd, 1/2 x 1 1/4", 50/bx
3 BX |Bolt, Stove Rd Hd, 1/4 x 4", 100/bx
7 BX |Bolt, Stove Rd Hd, 1/4 x 5", 100/bx
11 BX |Bolt, Stove Rd Hd, 1/4 x 3 1/2", 100/bx
5bx & 47 ea BX |[Bolt, Stove Rd Hd, 1/4 x 4 1/2", 100/bx
15 BX |Bott, Stove Rd Hd, 3/16 x 4", 100/bx
3 BX |Bolt, Stove Rd Hd, 3/16 x 1 3/4", 100/bx
4 BX |Bolt, Stove Rd Hd, 3/16 x 2 1/2", 100/bx
18 BX |Bolt, Stove Rd Hd, 3/16 x 3 1/2", 100/bx
2 BX |Boft, Stove Rd Hd, 3/16 x 4 1/2*, 100/bx
3 BX |Bolt, Stove Rd Hd, 3/8 x 4", 100/bx
g BX |Bolt, Stove Rd Hd, 5/16 x 3", 100/bx
2bx&44ea BX |Bolt, Stove Rd Hd, 5/16 x 4", 50/bx
4 BX |Bolt, Stove Rd Hd, 5/16 x 5", 50/bx
2 BX |Bott, Stove Rd Hd, 5/16 x 2 1/2", 100/bx
4 BX {Bolt, Stove Rd Hd, 5/16 x 3 1/2", 100/bx
4 BX |[Bolt, Stove Rd Hd, 3/16 x 2", 100/bx
6 bx & 98 ea BX |Bolt, Stove Rd Hd, 3/16 x 3", 100/bx
1 BX |Bolt, Stove Rd Hd, 3/16 x 5", 100/bx
1 BX |[Bolt, Stove Rd Hd, 1/2 x 1", 50/bx
1 BX |Bolt, Stove Rd Hd, 1/2 x 1 1/2", 50/bx
3 BX

Bolt, Stove Rd Hd, 3/8 x 1", 100/bx



